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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8

9)

This question paper contains 34 questions. All questions are

compulsory.

This question paper is divided into two Parts : Part — A and Part — B.

Part - A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted in Part — B.

Question numbers 1 to 16 and 27 to 30 carry 1 mark each.

Question numbers 17 to 20, 31 and 32 are short answer type questions.

Each carries 3 marks.

Question numbers 21, 22 and 33 are long answer type-I questions. Each

carries 4 marks.

Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.
There 1s no overall choice. However, an internal choice has been

provided in 7 questions of one mark, 2 questions of three marks,

1 question of four marks and 2 questions of six marks.
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T -
(ArSiErl wal aur S % fore @)
1. (a) Tefgm qen wfoad ameer of qur 3 : 2 % 31quTd ° e9-g1 sted) off | 3Rt worRh
GSit et % 1,50,000 T4 % 2,00,000 & | AEH Hoi@ H YT W 8% a1ie &
T S 1 E9H & | 31 T, 2023 bl GHIC 8 aTct 99 b foT¢ % 1 I[g oy
% 21,000 o1 | fifgar T shfoan o S @rai § S hl STH aTeft G5 W) S 6
i et
(A) A T 12,000 91 T 16,000 (B)  3HA: T 10,500 9241 % 10,500
(C) shT: T 9,000 9T T 12,000 (D) sHH: T 16,000 a1 T 5,000 1
GO
(b) TRt AT BMYAT Ueh HH <hl HreieR off | Bferept 3 ad & SR0F Uodeh fommdt & 3m=a 1
9,000 T 3T AT | 6% dTTSeh ST T Bieehl o MELT W YATNG foham oA
WW@’T{:
(A) %540 (B) %2,160
(C) % 1,080 (D) %810 1
2. AR (A) : wfayfa siftem o1 3w womrh afwrafa 6 fasht W g areft g1f o
AufeTRgd s o 7T & foma ST HehaT 8 |
HROT (R) : wfavfa siftrm o1 3u=nt shaet st stfefem, 2013 o feu e 38w o forg
&l TR STk 2 |
Frafafaa @ o g€ faseg w1 937 Shifse -
(A) AR (A) T SR (R) SHT T 8 T SR (R), 3R (A) T HEl HROT
SRS
(B) SAMIHAT (A) G HRT (R) ST H&l & G HRUT (R), HIUHAT (A) T & SR 7 |
(C) 3RYHe (A) 9T HROT (R) SHT 3 E |
(D) AR (A) 3 8, T SR (R) T 2 | 1
3. had fafire 3 wmfa fafieg € T 28,60,000 < fafay ufwmtaar w1 s fran |
YA T 100 Tk o U1 Sgd 3790 /IR o 10% Sftem W frifia sk fopem mm |
Torafa ferfires ot fifira fepw T a7t /< <6t T o
(A) 28,000 (B) 31,778
(C) 28,600 (D) 26,000 1
4. (a) 3 fAWEE T T 100 T & 10,000, 9% FOTTAT b1 FATHA 5% Siftrm ox foma, $eht
SMEF 10% SHTERM = ST AT | 3RO e &1 @ b 98T H @i bl SR -

(A) % 10,00,000 (B) % 1,00,000
(C) % 1,50,000 (D) % 1,05,000 1
GEC))
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PART -A
(Accounting for Partnership Firms and Companies)

1. (a) Ridhima and Kavita were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were ¥ 1,50,000 and ¥ 2,00,000
respectively. The partnership deed provides for interest on capital @

8% p.a. The net profit of the firm for the year ended 31st March, 2023
amounted to ¥ 21,000. The amount of interest on capital credited to
the capital accounts of Ridhima and Kavita will be :
(A) T 12,000 and ¥ 16,000 respectively.
(B) 10,500 and ¥ 10,500 respectively.
(C) T 9,000 and T 12,000 respectively.
(D) 16,000 and ¥ 5,000 respectively. 1
OR
(b) Ruchika and Harshita were partners in a firm. Ruchika had
withdrawn T 9,000 at the end of each quarter, throughout the year.
The interest to be charged on Ruchika’s drawings at 6% p.a. will be :
(A) T 540 (B) 2,160
(C) 1,080 (D) %810 1

2.  Assertion (A) : Securities Premium cannot be utilized for writing off loss

on sale of a fixed asset.

Reason (R) : Securities Premium can be applied only for the purposes
mentioned in the Companies Act, 2013.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct reason of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct reason of Assertion (A).

(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is false, but Reason (R) is true. 1

3. Kewal Ltd. purchased sundry assets from Ganpati Ltd. for ¥ 28,60,000.
The amount was paid by issuing fully paid shares of ¥ 100 each issued at a
premium of 10%. The number of shares issued to Ganpati Ltd. were :

(A) 28,000 (B) 31,778
(C) 28,600 (D) 26,000 1

4. (a) Aarav Ltd. issued 10,000, 9% debentures of ¥ 100 each at a premium
of 5%, redeemable at a premium of 10%. Loss on issue of debentures
account will be debited by :
(A) %10,00,000 (B) %1,00,000
(C) %1,50,000 (D) %1,05,000 1
OR
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(b) =9 fAfE 3T 100 I & 8,000, 11% ROTET T 5% Sfemd w Friw= feram |

Teh Y o foTT RUTHH] X ST 3hi et T i -
(A) 80,000 (B) 92,400
(C) 88,000 (D) 880

e wreufes wftfefa ufen 9o wea T 5 a1 6 & S AR :

<hura qUT fEdsr ATEER § U1 3 : 2 % U § A9-gIH sed 7 | 31 9, 2023
%I T 15,000 T T T AT e o T 3! Isit ShA: T 55,000 TAT T 45,000 off |
¥ o SR herd HT T Fid-Tomrdt & 3Ry & 2 1,500 o1 a1 f&aw 3 1 Tawy,
2022 %1 ¥ 9,000 T ST fohaT |

T @I TR 3T o 1¢ I8 1 g7 T 5% aTTeh & & ISl TS ¢ a1 8%
T U JTET0T TR AT JHTHA i ol &I T T8l TR 2 |

5. hud ohl SR ISh off -
(A) % 35,000 (B) % 39,000
(C) T 43,000 (D) % 52,000

6. Teadsr o 31ETe Wi <6 S a1l sar <h1 ufsr gt -
(A) %225 (B) % 4,500
(C) %300 (D) % 17,200

7. 3 YT B Ush WY o HIEIR & GAT 3 : 2 h AT H A - 1 fI9TeH hd o |
1 37, 2023 § 3 A I S-SR died & fow ggaa g | 56 fafer =1 wd 6
TATfG T GeAiehd ¥ 3,00,000 Forarm o | @fer @t @it forT, @i o wi@iend < forg
JATEYIH U= Tfafse &rf

Date Dr. Cr.
Particulars Amount | Amount
2023 @) Q)
(A) 3184, 1 Ty 1 GSft @ qm | 30,000
391 ISl @ & 30,000
(B) 3194, 1 3911 o1 USfl @rar Tm | 30,000
Ty o6 ISft @ § 30,000
(C) 314, 1 Ty o1 OSf @Tan Bl 3,000
IR EIRCIGRS] 3,000
(D) 314, 1 3911 o1 OSfl et EiL] 3,000
Ty o6 ISt @ § 3,000
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(b) Dove Ltd. issued 8,000, 11% debentures of ¥ 100 each at a premium of
5%. The total amount of interest on Debentures for one year will be :
(A) 80,000 (B) 92,400
(C) 88,000 (D) %880 1

Read the following hypothetical situation and answer question numbers
5and 6 :

Keshav and Hitesh are partners sharing profits and losses in the
ratio of 3 : 2. On 31st March, 2023 after division of profit of ¥ 15,000, their
capitals were T 55,000 and T 45,000 respectively. During the year
Keshav’'s drawings were % 1,500 at the beginning of each quarter and
Hitesh withdrew % 9,000 on 1st November, 2022.

After the final accounts have been prepared, it was discovered that
interest on capital @ 5% p.a. and interest on drawings @ 8% p.a. have not
been taken into consideration.

5. Opening capital of Keshav was :

(A) 35,000 (B) % 39,000

(C) % 43,000 (D) % 52,000 1
6. Amount of interest to be charged on Hitesh’s drawings will be :

(A) 225 (B) 4,500

(C) %300 (D) % 7,200 1

7. Isha and Manish were partners in a firm sharing profits and losses in the
ratio of 3 : 2. With effect from 1st April, 2023, they agreed to share profits
equally. On this date the goodwill of the firm was valued at ¥ 3,00,000.
The necessary journal entry for the treatment of goodwill without opening
Goodwill Account will be :

Date Dr. Cr.
2023 Particulars Amount | Amount
®) ®)
(A) April, 1 Manish’s Capital Alc. Dr. | 30,000
To Isha’s Capital Alc. 30,000
(B) April, 1 Isha’s Capital A/c. Dr. | 30,000
To Manish’s Capital Alc. 30,000
(C) April, 1 Manish’s Capital Alc. Dr. 3,000
To Isha’s Capital Alc. 3,000
(D) April, 1 Isha’s Capital A/c. Dr. 3,000
To Manish’s Capital A/c. 3,000 1
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8.  TTEl, ®& qur firfy ueh wH I AR FqUT 6 1 4 : 1% A § A9-BIN sied § | A
3 Tt =61 % 50,000 &9 61 TR G 7 | 31 HIE, 2023 I FHIG g I h [T g AW
% 1,10,000 T | firf =1 TR <1 TRT < o T W o 1 H [TET <hT 9T BT -
(A) 20,000 (B) 60,000
(C) 40,000 (D) 10,000
9. wftar fafiree 3 ww w1 fifia T 10 T & 100 3791 /9= 1, T8 T 2 9fd 311 /3RR
o Siftrm o feifig fopam o o qen fom W 2 8 ui T 9, T 5 uia 3w1/3eR (fiftem
gfgd) <t A& TN T P Tal i T W (forfeit) L ferm | T 2 ufa 71/ H
oW Ud 3fa| AreET | TE g ot | 3 | 70 A0 /IR B 3 hl T 10 Ui
I /IR W, T 8 A1 o sget G e oht fearm | g ffee o g srferey o
(A) T500 (B) %400
(C) %350 (D) %300
10. ARHUT (A) : TR WY H ATeieRi i fsft Trafy w1 I wH % T ST YT S
& fau fera ST geRar 2 |
SR (R) : Y o AT [T AIRIGRI <l gl i gt 2 |
FrafaRed @ 9 w2 foesrea =1 === Sifve
(A) THT YT (A) 3T HRUT (R) TF 8 U1 HRUT (R), HANTHUT (A) T &l a0
2
(B) M1 AMRUA (A) T SRV (R) T & W] SR (R), 3o (A) 1 T 9
TR
(C) AR (A) 39 8, T SR (R) T 2 |
(D) AR (A) T 7, ] T (R) 36 2 |

11. (a) afefr, gepfer aer ify amsem off qem 2: 2 ¢ 1% 31§ o atedt off | 30 <,
2023 %I Fehld H T & TS | 31 A, 2023 hHl GH §C I HI g AN
% 4,50,000 T | I Gd TTHCR 3 <19 % WAT HY T0HT el o & @19 & 3R
T T T, T Ghfd ok Goft @it S ShY ST et s & ufsr g

(A) % 90,000 (B) % 45,000
(C) % 1,80,000 D) % 1,12,500
JaT

(b) T TTISH Ta sl B & forere 1 afshan o et & e fagera fomam mam |
e e 3@ 2 75,000 o wifefires i st € 8 | vad foees == ot 98
H o ¢ Tgga &1 T | 9ad g € 60,000 % arifess forered =R 1 Y
ERIREIERCECR CIRCIRE: A LR i
(A) % 75,000 (B) % 60,000
(C) T 15,000 (D) 10,000
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8. Mahi, Ruhi and Ginni are partners in a firm sharing profits and losses in
the ratio of 6 : 4 : 1. Mahi guaranteed a profit of ¥ 50,000 to Ginni. Net
profit for the year ending 31st March, 2023 was % 1,10,000. Mahi’s share in
the profit of the firm after giving guaranteed amount to Ginni will be :
(A) 20,000 (B) % 60,000
(C) % 40,000 (D) % 10,000 1

9. Sarita Ltd. forfeited 100 shares of ¥ 10 each, ¥ 8 called up issued at a
premium of ¥ 2 per share to Ramesh for non-payment of allotment money
of ¥ 5 per share (including premium). The first and final call of ¥ 2 per
share was not made. Out of these 70 shares were reissued to Ashok as T 8
called up for % 10 per share. The gain on reissue will be :
(A) %500 (B) %400
(C) %350 (D) %300 1

10. Assertion (A) : In partnership firm, the private assets of the partners

can also be used to pay off the firm’s debts.

Reason (R) : The liability of the partners for acts of the firm is limited.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is false, but Reason (R) is true.

(D) Assertion (A) is true, but Reason (R) is false. 1

11. (a) Aditi, Sukriti and Niti were partners sharing profits in the ratio of
2 : 2 : 1. Sukriti died on 30th June, 2023. Net profit for the year ended
31st March, 2023 was ¥ 4,50,000. If the deceased partner’s share of
profit is to be calculated on the basis of previous year’s profit, the
amount of profit credited to Sukriti’s Capital Account will be :

(A) % 90,000 (B) % 45,000
(C) % 1,80,000 D) % 1,12,500 1
OR

(b) Pawan, a partner was appointed to look after the process of
dissolution of firm for which he was allowed a remuneration of
T 75,000. Pawan agreed to bear the dissolution expenses. Actual
dissolution expenses ¥ 60,000 were paid by Pawan. Pawan’s capital
account will be credited by :
(A) R 75,000 (B) % 60,000
(C) % 15,000 (D) % 10,000 1
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12. Ueh HISGH] WA o 45 WSR2 | I8 WG § 7 3R HISIGRI ol Tzl ¢1 =Ted & | et

Ffafrm, 2013 % IFAR haet JTR AT <l WH H Ja9T fean S dehan 2 |
A 1 B) 6
© 5 D) 3

13. (a) i, T qen ffy arger off qem 3 : 2 : 1 % 31U § @ siedr of | iy
AT B TS | 3Heh! T it fafy X, W o e foawor § seemrt afigld
%Y % 1,50,000 o7 | FHHA &Rgfd g@T % 1,20,000 41 | #i4 % 46 @ |
Shrar) erfergfe shry S femet Trfr s i smeft 7

(A) % 30,000 (B) % 10,000
(C) % 5,000 (D) % 15,000
FaT

(b) fea, 3fea qen Hifeq ueh W o ATRER 9 qAUT 3 : 2 : 1 o SFIITd | 1} i
forem #@ & | Aifed SefigT & T | = qun iR o e %
TR o ToTT STTE9aIeh THIIISHI ol i <h 9T 35k Yoil @Td H T 1,80,000
T I o7 | Tfgd 3TN 3fea 35 g o o1 P § 38 T 2,00,000 HT PTAH B
o foTu wrgma 21 e | wH Al @l § Hifed o1 Wi o
(A) % 1,80,000 (B) % 2,00,000
(C) % 40,000 (D) % 20,000

14. =, @amﬂqastﬁﬁ%ﬁqrsﬁa’r{éamg § Z%Beﬂgtrmﬁm—grﬁamﬁéltﬁﬁﬁ T

o foTT = <Rl aiwT Te@ TRIT | 77 379 F[&T W <Rl SHTC WG | =1 @1 FosTSH ST9Td &0 -
(A 12:8:5:5 B) 21:14:18:12
C©) 21:14:15:10 D) 2:2:1:1

15. (a) 3¢ W (Forfeit) fohu e @ft a7t /9= w1 qq:fefes ot femm e B, 3iw1/3rR
FSURCIG] (Forfeited account) T gfe his T STeh! & I 3H BT fohdT ST & -

(A) W HeF @Td H (B) wfayfa sifiem @ &
(C) T Eww @ | (D) AH-BI feemor 4
HAYET

(b) Tua fdAfies 9 T 10 I & 100 390 /340 1, et Frfm 20% fiftem
Topam T o, % 3 ufd 3TT/3RR B TUH JrEET qer 3 1 Wi 39/ i 3ifem
T T YITAH a1 i W (Forfeit) i fora | =maw go wid 371 /3-r |
TR S 370 /SR ST A Te fema ST wekan &, &

(A) T4 B) %6
(C) T8 D) 10
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12. A partnership firm has 45 partners. It wants to admit 7 more partners

into partnership. Only more partners can be admitted in the
partnership firm according to Companies Act, 2013.

A 1 B) 6

(C) 5 D) 3 1

13. (a) Kuiti, Hina and Nidhi were partners sharing profits in the ratioof 3 : 2 : 1.
Nidhi retired. On the date of her retirement, Workmen Compensation
Fund stood in the Balance Sheet at % 1,50,000. Workmen Compensation
Claim was % 1,20,000. How much amount of Workmen Compensation
Fund will be credited to Nidhi's Capital Account ?

(A) % 30,000 (B) % 10,000
(C) % 5,000 (D) % 15,000 1
OR

(b) Rohit, Udit and Mohit were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Mohit retired. The balance in his capital account
after making the necessary adjustments on account of reserves and
revaluation of assets and liabilities was ¥ 1,80,000. Rohit and Udit
agreed to pay him ¥ 2,00,000 in full settlement of his claim. Mohit’s
share of goodwill in the firm was

(A) %1,80,000 (B) %2,00,000
(C) % 40,000 (D) % 20,000 1
14. A, B and C were partners in a firm sharing profits and losses in the ratio
111 ) ) : o
of 9:3°%4" D was admitted in the firm for 6 th share. C would retain his
original share. The new profit sharing ratio will be :
(A 12:8:5:5 B) 21:14:18:12
C) 21:14:15:10 D) 2:2:1:1 1

15. (a) If all the forfeited shares are reissued, the balance, if any, left in the
Forfeited Shares Account is transferred to :
(A) General Reserve Account
(B) Securities Premium Account
(C) Capital Reserve Account
(D) Statement of Profit and Loss 1

OR
(b) Raghav Ltd. forfeited 100 shares of ¥ 10 each issued at a premium of

20% for non-payment of first call of ¥ 3 per share and final call of T 1
per share. The minimum price per share at which these shares can
be reissued will be :
A T4 B) %6
(C) 8 (D) %10 1
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16. T HTECH %H h foeed W Afe T A19ieR sl 37K 8 ®H gRT Sgeh &1 1 YT foha
AT 8, o U8 =1 ol feiiaa 3 & fopd @Td | m femam St
(A) =gef @ (B) HTEGR %1 Isft @i
(C) TSGR 1 RV Tl (D) S @

17. 3Ta, S AT ST Teh HH H TTSIgR & AT 2 ¢ 2 @ 1k ITUTd § i <l fovsi hid o |
3o TrEft G5l R % 4,00,000, 2 5,00,000 712 6,00,000 & | 31 T, 2023 i
THT B 9Tt 99 | AR o Uof @Il § Usfl WSS 10% Jfd 9y 31 a9 6% Sfd a9
i g & ST o TR |

SHTeTeh AN U= Tfafse hifv |

18. (a) &Y, T qYUT T Ueh HH o HTHCR 9 GAT 5 : 3 : 2 o FJUIG § o1y sied o |
1 39, 2023 § 328 Al 1 sUE-SUsR died 1 Fuig fo=m | 39 fafy =1
I G= 1 T 3,60,000 T I T 9UT AN -1 @rd | T 1,80,000 T 719 39
T | IR oh oI o1 TorTer 31uTa & itad o SRuT Ush aumsH gfafee hife |

AYAT

(b) T, 7%, AT qAT T Teh Y o ATRGR A AT 2 : 2: 2 : 1 T § @Y died
& | 31 SHad, 2023 1 I HaTHgd & T3 | i hi FaTeiy o= wH hl @i 1
et % 1,40,000 fopam mom | o, e A AT K = 50 1: 1 % AT AW
o 3ruTa <6t Teufd g8 |
319 S ! Tl | <Id g, B <l Tkl § @i @rar @iet feer @t
TG ! HTFTIh UsHTH= Tfafee Hif |

19. (a) ®fafafiee = et fofide @ wefid o1 s foma | 918 wemfa 58 T o wfawat &1
YA 10 I e 10,000 FHAT 390 1 10% Hfeem o qur T 50,000 1 s
e Frifera oheeh fema e |

B fetfiee 1 gkl § TR AT o ToTT SATavarsh Usire=n yiafeeat i |
AYS

(b) 1 ISR, 2022 ! T fetfiee 9 T 100 T=™6 6 4,000, 8% AT I T
10% g T T | et feifer <t sheaeft o6 wiferegfor sfftrmm @md @ € 50,000 61 31 o7 |

OIS o T 9T RO & i WX g <A1 Ui 1 Aufeifad & & fou
JATEYIH U= Tfafseat i |
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16. On dissolution of a partnership firm, if realisation expenses are paid by
the firm on behalf of a partner, then such expenses are debited to which of
the following account :

(A) Realisation Account (B) Partner’s Capital Account
(C) Partner’s Loan Account (D) Bank Account 1

17. Anvi, Vani and Karan were partners in a firm sharing profits in the ratio
of 2 : 2 : 1. Their fixed capitals were % 4,00,000, % 5,00,000 and % 6,00,000
respectively. For the year ended 315t March, 2023, interest on capital was
credited to the partners capital accounts @ 6% p.a. instead of 10% p.a.

Pass the necessary adjusting Journal entry. 3

18. (a) Mahesh, Ramesh and Naresh were partners in a firm sharing profits
in the ratio of 5 : 3 : 2. From 1st April, 2023, they decided to share
profits equally. On that date, there was a balance of ¥ 3,60,000 in
General Reserve and a debit balance of ¥ 1,80,000 in the Profit and
Loss Account. Pass single adjustment Journal entry for the above on
account of change in the profit sharing ratio. 3

OR

(b) Ravi, Guru, Mani and Sonu were partners in a firm sharing profits
in the ratio of the 2 : 2: 2 : 1. On 31st January, 2023, Sonu retired. On
Sonu’s retirement the Goodwill of the firm was valued at T 1,40,000.
The new profit sharing ratio among Ravi, Guru and Mani was agreed
as 5 :1: 1. Showing your workings clearly, pass necessary Journal
entry for the treatment of Goodwill in the books of the firm on Sonu’s
retirement without opening goodwill account. 3

19. (a) Chavi Ltd. purchased machinery from Neo Ltd. It was agreed that
the purchase consideration will be paid by issuing 10,000 equity
shares of ¥ 10 each at a premium of 10% and a bank draft of ¥ 50,000.

Pass the necessary Journal entries in the books of Chavi Ltd. for the
above transactions. 3

OR

(b) On 1st October, 2022 Ninza Ltd. issued 4,000, 8% Debentures of ¥ 100
each at a discount of 10%. The company had a balance of ¥ 50,000 in
Securities Premium Account on the same date.

Pass necessary Journal entries for issue of debentures and to write
off discount on issue of debentures. 3
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20.

21.

22.

TS YT 231 Teh B4 | Areier off | fUsel 38 auf & 98 € 2,00,000 @1 3fEd oy
It o W@ off | 3 TR & =™ § uldwd S T @ 10% 3 | e 6
i Td ATl S god A T 18,00,000 AT T 3,00,000 AT | 3f¥remy fafy
BRI H 1 BT o Hoo hl TUMT HITT, ATE SERT HouTeh STIATHI < oI Iu1 o 5 b
JTIR T FehalT ST 2 |

1 3, 2023 I T 10 Y& & 2,00,000 FHAT /3= H fasrerd T 20,00,000 6
USht o6 |y @f fetfies o1 e forerm o | ShEEt A 1,80,000 FHAT 39T /IRIAT
* o foTu 3A1eed AMEE T | st 1 1,70,000 THAT 330/ o f70 3Tree
ITed g | o oy § ¥ 8 Wi 3791/3RR "N T qe 3 2 Wi 3197 /30R i 3w ar andt
Tl & TS 1 2,000 370/ T G AT qAT 4,000 370/ IR HT GRS =TI T 2
e 3791/ <hT T2 AT BT T el fohaT | T 1T o vt R an o= <6
uft 37911 /3 b1 &7 (forfeit) T foram T |
et rfufem, 2013 i SFFA-II1, 9F-1 o SFFER, 397/ St 1 @fa
ferfires o feufa foaw & wega hifse aen @i & Fic’ oft IR hif |

g, ToE 791 96 Toh A H HISieR & 941 3 : 1 : 1 % 37T § AT9-81H 1 fawTsH
T I | 31 1€, 2023 1 3h1 ferf foawor f yepm o
31 AT, 2023 I °THE, Tad a1 qd 1 et foemor

P T e |

® ®
TER 1,00,000 | s 20,000
= 999 50,000 | & 1,10,000
it fafrm 70,000
mygd 60,000 iy 35,000
Tae 1,00,000 o 1,15,000

bci 40,000 | 2,00,000

3,50,000 3,50,000

30 Rawg, 2023@1@6{%5@@1@ | FTRIEY FoiE o TIN5k I SAUTIHRI

fforfaa 3 s 2

) m@mwm|

(i) @™ § gg h Tl ek Iqept W, TEehl T fUset Iy o @19 % YR W hH
ST |

(iii) ATfd T 3HehT 9T, FSTEeh! TUHT fUsel IR Nt o 3fi9d o1 & i o91 o hd &
SATER 9 h! AT |

(iv) 12% wfd od 61 ¢ & Gl WA |
T 1 AT H WA 3,000 T 7T fIsel IR aui 1 3{Ed @v % 50,000 o1 | g

i feifer @eh 9& <1 37M=TT € 10,000 T |

T o ST STUTIRINT bl T i o foTT T& T ISft @IAT IR HIfT |
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20.

21.

22.
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Maira and Shreya were partners in a firm. They earned an average profit
of % 2,00,000 during the last few years. The normal rate of profit in the
similar type of business is 10%. The value of assets and liabilities of the
business were T 18,00,000 and ¥ 3,00,000 respectively. Calculate the value
of goodwill of the firm by super profit method if it is valued at 3 years
purchase of super profit.

On 1st April 2023, Khyati Ltd. was formed with an authorised capital of
% 20,00,000 divided into 2,00,000 equity shares of ¥ 10 each. The company
invited applications for issuing 1,80,000 equity shares. The company
received applications for 1,70,000 equity shares. During the first year, ¥ 8
per share were called and final call of ¥ 2 per share has not been made
yet. Siya holding 2,000 shares and Piya holding 4,000 shares did not pay
the first call of ¥ 2 per share. All the shares of Siya and Piya were
forfeited after the first call.

Present the share capital in the Balance Sheet of Khyati Ltd. as per
Schedule III, Part I of Companies Act, 2013 and also prepare ‘Notes to
Accounts’ for the same.

Madhav, Raghav and Purav were partners in a firm sharing profits and
losses in the ratio of 3 : 1 : 1. Their Balance Sheet as at 31st March, 2023
was as follows :
Balance Sheet of Madhav, Raghav and Purav
as at 31st March, 2023

e e1ees Amount Amount
Liabilities ?) Assets ?)

Creditors 1,00,000 | Bank 20,000
General Reserve 50,000 | Stock 1,10,000
Capitals : Investment 70,000
Madhav 60,000 Furniture 35,000
Raghav 1,00,000 Building 1,15,000

Purav 40,000 2,00,000
3,50,000 3,50,000

Purav died on 30th September, 2023. According to Partnership deed, his

legal representatives are entitled to the following :

(1) Balance in his Capital Account.

(1) Share of profit upto the date of death to be calculated on the basis of
last year’s profit.

(111) Share of goodwill calculated on the basis of three years purchase of
average profits of last four years.

(1v) Interest on capital @ 12% p.a.
Purav’s share of profit was ¥ 3,000 and the average profit of last four

years were % 50,000. Purav’s drawings upto the date of death were ¥ 10,000.
Prepare Purav's Capital Account to be rendered to his legal

representatives.

4



23. (a) 3Fa, et JuT Bf AERER A qAT 3 : 2 1 1 % FU § AN-FH Fied o |
31 AT, 2023 i I7ehT fRufq feremor fr wepm o -
31 W=, 2023 w1 JHa, Wit qur sfe o1 R femwor

. i . i

il ®) et ®)

ot - LRERCRNICH 3,00,000

T 1,80,000 HefeR 20,000
gt 1,60,000 S 3,50,000

B 1,00,000 | 4,40,000 | =T : G 0T &

IGE Y 2,50,000 e yEEE 20,000 | 3,30,000

The B 10,000

ATH-BTH Qa1 30,000

6,90,000 6,90,000

Iudierd fafer b1 Bfa Samfes 21 718 | a8 et 55 o6 -
(i) T qT gl ST gouehd T 4,30,000 foram Swi |
(i) fee T o oM Tae™ 1 50% S R SIRAT |
(iii) T T Bf o 9T T Yoo 3 80,000 foham mm qer wfa @t @iet form

ST TG TehT ST |
(iv) Bfd B YA St M aTelt Bt RN 3 qoT Wet 6 TR ARNA fob ITht

Gt 3ok AT AT TI9TeH U § &1 I |
YHCTeh GTAT qT |TSIERI o Yofl W dIm shifer |

YT

(b) Teem qen wshar sk W <l |rEieR off quT 3 : 1% IFUTE § oy diedt off | 31 9T,
2023 I I HH & ol & 1/4 9T 3 FoAT SHT 1 U T ATRER & €9 § FI9T
ez | 3= fafer st SehT fef foremor g wemm o

31 W, 2023 i feeam qem wehar wr fefy foemor
. iy . Tfr
e ®) et ®)
oft - offf qeI Wed 5,00,000
s 10,00,000 e 6,00,000
Thdl _ 7.00.000 | 17,00,000 | =ik 1,50,000
= = 3,20,000 | TTER 4,00,000
TR 5,40,000 | =reT : Gfewer ko &
ToTu greEame 30,000| 3,70,000
IEER 5,00,000
Uhe 4,40,000
25,60,000 25,60,000
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23.

(a) Arnav, Bhavi and Chavi were in partnership sharing profits and

losses in the ratio of 3 : 2 : 1. On 31st March, 2023, their Balance
Sheet was as follows :

Balance Sheet of Arnav, Bhavi and Chavi as at 315t March, 2023

e 4 e Amount Amount
Liabilities ® Assets ®
Capitals : Plant & Machinery 3,00,000

Arnav 1,80,000 Furniture 20,000
Bhavi 1,60,000 Debtors 3,50,000
Chavi 1,00,000 | 4,40,000 | Less : Provision for doubt-
Creditors 2,50,000 ful debts 20,000 | 3,30,000
Cash in hand 10,000
Profit and Loss Account 30,000
6,90,000 6,90,000

Chavi retired on the above date. It was agreed that :
Plant and Machinery be valued at ¥ 4,30,000.

The existing Provision for Bad Debts was to be increased by 50%.
Chavi’s share of Goodwill was valued at ¥ 80,000 and the same

@)
(i1)
(iii)

was to be treated without opening goodwill account.

(iv)

The total amount to be paid to Chavi was brought in by Arnav

and Bhavi in such a way as to make their capitals in proportion
to their new profit sharing ratio.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

(b) Divya and Ekta were partners in a firm sharing profits in the ratio of
3 : 1. On 31st March, 2023 they admitted Sona as a new partner for
1/4th share in the profits of the firm. Their Balance Sheet on that
date was as follows :

Balance Sheet of Divya and Ekta as at 31st March, 2023

e 4 e Amount Amount
Liabilities ® Assets @
Capitals : Land and Building 5,00,000

Divya 10,00,000 Machinery 6,00,000
Ekta _ 7,00,000 17,00,000 | Stock 1,50,000

General Reserve 3,20,000 | Debtors 4,00,000

Creditors 5,40,000 | Less : Provision for
doubtful debts 30,000 3,70,000
Investments 5,00,000
Cash 4,40,000
25,60,000 25,60,000
67/5/3/122/1Q5QPS Page 17 of 32

P.T.O.




24.

(a)

(b)

T % 4,00,000 37T ISTt G ST TAT(T 6 9T < €9 H FE AT |

g HEhfd g3 b -

(i) ™ <hl AT ST G T 2,40,000 foram |

(i) ¥ AT e T FeAThd T 7,12,000 Toam T |

(iii) Hferer ot < foIe yraem™ 2 8,000 & 3féres uman = |

(iv) e 8 "fmfera T 20,000 1 T AT ST TAM Tal fohdT IR |

(v) Teen qen wehar i St 1 FHRISH ST 31 Ui 3 STER W =Te] @Td et
Tepanm s |

YHCTeh GTAT qT |TSIERI o Yofl W oI shifer |

Tl feafireg 9 2 10 T¥% % 80,000 THAT 391 /IRR &l T 4 fd 3791/37A &+
fifte w frifia @ & foe smaer smifa feee | wfa s7er/3eR Tf¥n w1 gram
A yRA @ A1 : T 5 — 3MMeed Wadr % 9 (Shftrm afgd)— smeed w |
1,40,000 37911 /3R o6 foTq 3Teed wed §¢ a1 At eieniii /SeRaEiced i
TR ST 9T 37911 /IR T ATee o e T |
3T W e i 8 fafier afdt 1 TERSE e W it § o forn
T | e W T aeft it w8 M8 A wHR @ Blewt, e 1,400
JAM /AT o ToTT 3Tele femam o | 38 37911 /3= o1 &7 (forfeit) T foram mmam |
gl fafide 6t gkl § ITER SH-CHI 1 oREl i & ToTT. 3Tawreh TsiHTe=
yiafseat HifvT | Stet i 3Tevas Bl 31ed =T @il @i |
e

w1 feafireg 9 2 10 &% @ 30,000 371 /3R &1 T 2 ¥fd 3791/3R & fiftem
R ifia st 2 3Ted mEha fohy, | Uit 1 yram e SR 8 o o

JTEET YT 3TeeH W T 7 Wi 397 /3R

T qAT JHAfeq I W T 5 G T 2 gfea) ufa 391 /3°R
33,000 37T /3R < folu 31Eed I T | el 4 3,000 3790 /3= % ferw
JTSIEAT i T8 L T TUT 3TTgehi ol TR ATRH HLE | 30,000 37T /IR i qoi
®Y Y TR T fotm T |
JTeET a1 e TR faferad yred & 78 | wem qen 3ifaw wreen |t oft 78 qen
500 3730/ o Teh YTk bl BlShl TUH qAT 3fdH Ir=-T I & T8 | 3Hh
A /3T T BT (forfeit) T foram =T | 37 G+t 311 /TR bl T 8 Tid 34%1/I=R
9ot e g Fifia Rt e I |

e e 6 qeaehl § ITUE oiF-¢Al hl 3TEveeh UsHTa= Jfafsesr
I | STt oft ST1awres 81 e IT=HT @il @il |
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Sona will bring % 4,00,000 as her capital and her share of goodwill in
cash. It was agreed that :

(1) Goodwill of the firm was valued at % 2,40,000.

(1) Land & Building were valued at % 7,12,000.

(111) Provision for doubtful debts was found to be in excess by ¥ 8,000

(1v) A liability for ¥ 20,000 included in Creditors was not likely to arise.

(v) The capitals of Divya and Ekta will be adjusted on the basis of
Sona’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

24. (a) Murari Ltd. invited applications for issuing 80,000 equity shares of
% 10 each at a premium of ¥ 4 per share. The amount per share was
payable as follows : ¥ 5 on application and ¥ 9 (including premium)
on allotment.

Applications were received for 1,40,000 shares and allotment was
made on pro-rata basis to all the applicants. Money overpaid on
application was utilised towards sums due on allotment.

The allotment money was duly received except from Sameer who had
applied for 1,400 shares. His shares were forfeited.

Pass the necessary journal entries in the books of Murari Ltd. to
record the above transactions. Open calls-in-arrears account
wherever required. 6

OR

(b) Kavya Ltd. invited applications for issuing 30,000 shares of ¥ 10 each
at a premium of ¥ 2 per share. The amount was payable as follows :

On application and allotment T 7 per share
On first and final call % 5 per share (including ¥ 2 premium)

Applications were received for 33,000 shares. Applications for 3,000
shares were rejected and money returned to the applicants.
Applications for 30,000 shares were accepted in full.

The application and allotment money was duly received. The first
and final call was made and money received except from a
shareholder holding 500 shares. His shares were forfeited. All these
shares were re-issued to Kartik as fully paid for % 8 per share.

Pass necessary journal entries for the above transactions in the
books of Kavya Ltd. Open calls-in-arrears account wherever required. 6
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25. Tafir= aftarafaa (TeRe o Sfafte) T g qet 1 CIarsti sl agel @Td § M=
U h TG TGN AT AT h1 o o forered W F=fafed eH-adi & fow smevas
Qs gfafeest Hife -

(i) Tfaer 3, S o g Tress o, fser 9 § fEeh @i Wi % 11,000 § g9 k0T
w9 ¥ saferfiga st fe=m mm o, Tl e 70% w1 g e fe |

(i) 40,000 1 UMY & fafae SERT H1 20% o2 W fgama Fohar (settled) T fem mm |

(iii) TETH T 23,000 % fem 1 T 20,000 § o o |

(iv) M-I @rar T 18,000 T ATH-319 S T&T T |

(v) g4 T 15,000 % 0T T T L feam = |

(vi) % 1,00,000 T GETehIT Te <hl AR bl Teb TR ol T 85,000 o 0T JTdM |
< e T |

26. I feafies 6t geaenl # frafoafad ve@e fafa § ot & frimm @ awfea

Qs gfafeest Hife -

i) T 100 I&H & 20,000, 8% FOTHAT T FEH 10% Hifeem w feram mam, e
M 5% Hiferem w1 fomam s |

(i) T 100 Y& & 8,000, 8% FOTIAT T A 10% & TX T 7T, ST SMeH
10% Sftrem o fepar Sa |

(iii) ¥ 100 T % 3,000, 8% RUTTAT T 7 THYEH W TR T, SeRT SMEH 10%
ftremy 9x femar e |

T -g
fawea -1
(Ferfir feraront st fergetwon)

27. (1) W gt fifies v foxfioa oot 8 | o1 W g fRm wmn = Wl
TrefeRaa o o forg Tepameretd & St=Td eIt SR

INEREERERICTS I (B) Terfiam fsrameretma
(C) M1 Tafia a2 = fhameha (D) S=ITed fehamehar
JAYdr
b) | faam 1-4-2022 | 31-3-2023

wWYEEE | 210,000 | 25,000
31 T, 2023 ! T §C ¥ o fofT ot YA T 15,000 AT | ST AT SFHTUROT

Tiafafee € 96 3¢ AW 6 TTUHT i % T o J1a9™ & SIS ST |
(A) % 30,000 B) T 25,000
(C) % 10,000 D) % 15,000
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25. Pass the necessary journal entries for the following transactions on the
dissolution of the firm of Radha and Sudha after various assets (other
than cash) and third party liabilities have been transferred to Realisation
Account :

(1) Nitish, an old customer, whose account for ¥ 11,000 was written off
as bad debt in the previous year, paid 70% of the amount.

(1) Sundry creditors amounting to ¥ 40,000 were settled at a discount of
20%.

(111) Radha took over investments worth ¥ 23,000 at ¥ 20,000.
(1v) Profit and Loss Account showed a debit balance of ¥ 18,000.
(v)  Sudha’s loan amounting to ¥ 15,000 was paid.

(vi) Machinery of the book value of ¥ 1,00,000 was given to a creditor of
% 85,000 in full settlement. 6

26. Pass Journal entries relating to issue of debentures in the books of
Unicorn Ltd. in each of the following cases :
(1) Issued 20,000, 8% Debentures of ¥ 100 each at a premium of 10%,
redeemable at a premium of 5%.
(1) Issued 8,000, 8% Debentures of ¥ 100 each at a discount of 10%,
redeemable at a premium of 10%.

(111) Issued 3,000, 8% Debentures of ¥ 100 each at par, redeemable at a
premium of 10%. 6

PART -B
OPTION -1
(Analysis of Financial Statements)

27. (a) Shyam Sunder Ltd. is a financing company. Under which of the
following activity will the amount of ‘Interest paid on loan’ be shown :
(A) Investing activity
(B) Financing activity
(C) Both Financing & Operating activity

(D) Operating activity 1
OR
(b) | Particulars 1-4-2022 31-3-2023
Provision for Tax %10,000 % 25,000

Tax paid during the year ended 315t March, 2023 was ¥ 15,000.

While calculating Net Profit before Tax and Extra ordinary items,

the amount of provision for tax to be added is

(A) 30,000 (B) % 25,000

(C) % 10,000 (D) % 15,000 1
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28.

29.

30.

31.

32.

Frfefaa 5 & S = forit forewor o fereetyor shi U dendish T3 & 7

(A)  IATa forgeryor (B) deHTcHe forator
(C) ez foraron (D) ehg-sere fereron
(a) P TR — % 3,00,000

I gt - € 2,60,000

A <HATd - ¥ 80,000

Fweamss ARt - € 2,00,000

IR FTT o ST T IUHT FehaT TRIT =16, 317974 &I -

(A) 0.5:1 B) 2:1

(C) 15:1 D) 1:1

GO

(b) TS =Te] I 4 : 1 7, STe] IiEwaREt € 60,000 G907 a8t U 2.5 1 8, @
gl (¥2Teh) i TR Beft -
(A) % 22,500 (B) % 37,500
(C) % 15,000 (D) % 25,000

=1 1 @ form 19— o1 wforH Uere waTE B 2

(A) & | T 71,000 T TE HATEW |

(B) Tt b fershat bt 2 1,00,000 % 9% FROT9=T bl I |
(C) eI ¥ T 74,000 hi wIfed |

(D) HHAT A0 | Ui hieh 10% FROTIS b7 SNEH |

St saffm, 2013 61 S 111, 9FT-1 % AR, e A4l 1 F § g7 Sfivehi
qT 3unfiehi e t=aria shrat o feurfa foawor § wega foram smom -

(i) THE/TvIE

(i) ISt w=

(iii) Yoea feRtrn

freferRaa g & Rl it stmet STaTa i o Hifw -
Gehel T 3TITT 25%

Yool TN Z  5,00,000

FNYTRT /AEHI H b T 25,00,000

A <HATd Z 8,00,000

T it ¥ 23,00,000
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28.

29.

30.

31.

32.
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Which of the following is not a tool of Analysis of Financial Statements ?
(A) Ratio Analysis (B) Comparative Statement
(C) Statement of Profit & Loss (D) Cash flow Statement

(a) Total Assets — ¥ 3,00,000
Non-current Assets — Z 2,60,000
Non-current Liabilities — 3 80,000
Shareholders Funds — < 2,00,000
Current ratio calculated on the basis of above information will be :
A) 05:1 B 2:1
(C) 15:1 D) 1:1
OR

(b) When Current Ratio is 4 : 1, Current Assets are ¥ 60,000 and Quick
Ratio is 2.5 : 1, the amount of ‘Inventory’ will be :

(A) % 22,500 (B) % 37,500
(C) % 15,000 (D) % 25,000

Which of the following transaction will result in flow of cash ?
(A) Cash withdrawn from bank ¥ 71,000.
(B) Issue of 9% debentures of ¥ 1,00,000 to the vendors of Machinery.

(C) Received from debtors ¥ 74,000.
(D) Redeemed 10% debentures by converting into equity shares.

Under which major heads and sub-heads will the following items be
placed in the Balance Sheet of the company as per Schedule III, Part I of
the Companies Act, 2013 :

(1) Patents
(11) Capital Reserve
(111) Prepaid rent

From the following information, calculate Working Capital Turnover Ratio :
Gross Profit Ratio 25%
Gross Profit 3 5,00,000
Shareholders Funds 3 25,00,000
Non-current liabilities ¥ 8,00,000
Non-current Assets 3 23,00,000




33. (a) 31 WM, 2023 % T g€ a4 o foru B ffies & f=fafad aw-gif foawor @
AT AT - ferator dam Shifre 4
et fefies
31 AT, 2023 I GHIK §T TN o foTe -1 ferewor
2022-23 2021-22
et ® @
eI 3 32,00,000 | 20,00,000
= : HEAH Tydeny 2> 9,60,000 6,00,000
I =T 6,40,000 4,00,000
FEE50% B |
T
(b) Tr=faiRad g=1 & 31 9=, 2023 1 G0 gL a9 < o0 & foafies qen @ fafies
T HTHTT HATHR AT - ferator dam hifr : 4
ferator % fafiees | @ fafies
eI 3PH () | 20,00,000 | 10,00,000
I I R) 3,00,000 80,000
= () 10,40,000 |  4,80,000
EXEN 40% 40%
34. @ifiar feafies & f e foeror @ “fraw forameretdl & Thg wae’ @en ‘forxfiw
TshaTeReTTal § Tehg YT <hl TUMT <hIfST | 3799 19l hl T8¢ &Y ¥ <3MSY | 6
firar feafies
31 7, 2023 wr feufe foawor
. | 31-3-2023 | 31-3-2022
Teramor Eirk: A @ @
I. ww%mﬁ
(1) IR /AR FiemT
(@) 3 ISl /R OSh 4,00,000 | 2,00,000
(@) 99 TG TR 2,00,000 | 1,00,000
(2) Fr= A
(%) SIEfRIeiy 3UR 1,50,000 | 2,20,000
(3) =] qFATY
(%) AU IUR 1,00,000 -
(@) TGS ¢ 70,000 50,000
() BRI TG 50,000 30,000
T 9,70,000 | 6,00,000
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33. (a) From the following Statement of Profit and Loss of Shikha Ltd.,
prepare Comparative Statement of Profit and Loss for the year

ended 31st March, 2023. 4
Shikha Ltd.
Statement of Profit & Loss for the year ended 31st March, 2023
Particulars 2022-23 2021-22
®) ®
Revenue from operations 32,00,000 20,00,000
Expenses :
Employee benefit expenses 9,60,000 6,00,000
Other expenses 6,40,000 4,00,000

Rate of Tax is 50%.
OR

(b) From the following information prepare a Common Size Statement of
Profit and Loss of A Ltd. and B Ltd. for the year ended 31st March,

2023 : 4
Particulars A Ltd. B Ltd.
Revenue from operations (%) 20,00,000 10,00,000
Other income () 3,00,000 80,000
Expenses }) 10,40,000 4,80,000
Tax Rate 40% 40%

34. From the following Balance Sheet of Yogita Ltd., calculate ‘Cash flows
from Investing Activities’ and ‘Cash flows from Financing Activities’.

Show your working properly. 6
Yogita Ltd.
Balance Sheet as at 315t March, 2023
Particulars Note | 31-3-2023 | 31-3-2022
No. ®) ®)
I. Equity and Liabilities :
(1) Shareholders’ Funds
(a) Share Capital 4,00,000 2,00,000
(b) Reserves and Surplus 1 2,00,000 1,00,000
(2) Non-Current Liabilities
(a) Long term borrowings 2 1,50,000 2,20,000
(3) Current Liabilities
(a) Short term borrowings 3 1,00,000 -
(b) Trade payables 70,000 50,000
(¢) Short term provisions 4 50,000 30,000
Total 9,70,000 6,00,000
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(%) TRl gfmm et
(quid, 939 Ud IUHO qAl
I )
() T aiEEfET 7,00,000 | 4,00,000
(T, T Td 3YehI0)
(2) o] FiE T
() ik (ATTE=) 1,70,000 | 1,00,000
(@) SIS I 1,00,000 50,000
(M e Td Uhs e - 50,000
%A 9,70,000 | 6,00,000
@l & 12H
. 31-3-2023 | 31-3-2022
A H. CEL @ @
1. o Ud AT
A -BTH Terewor o1 3w 1,50,000 80,000
Y= G 50,000 20,000
2,00,000 | 1,00,000
2. relepTefM 38R
10% sieh o1 1,50,000 | 2,20,000
1,50,000 | 2,20,000
3. FATIBIA YR
Seh 3TferfareRy 1,00,000 -
1,00,000 -
4. FcThTAH U™
H-TEUH 50,000 30,000
50,000 30,000
5. ol gt (dafd, T Td 3Teht)
EEDERCCRENIEE] 7,90,000 | 4,70,000
2T : TohAd JoIgE (90,000) | (70,000)
7,00,000 | 4,00,000
mﬁ'&iﬁfw:

(i) | IF qAT T W T 50,000 T GoIGH TR AT | Teh HRART ohl [ehl AT
% 60,000 (TEThIT I3 T 45,000) oft, T 42,000 F 9= § 715 |

(i) b 0T T FIYTAE 1 319, 2022 1 & ez i |
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II. Assets
(1) Non-Current Assets
(a) Fixed Assets (Property,
plant and equipment and
intangible assets)
(1) Tangible Assets 5 7,00,000 4,00,000
(Property, plant and
equipment)
(2) Current Assets
(a) Inventories 1,70,000 1,00,000
(b) Trade Receivables 1,00,000 50,000
(¢c) Cash & Cash equivalents - 50,000
Total 9,70,000 6,00,000
Notes to Accounts :
Note . 31-3-2023 | 31-3-2022
Particulars
No. 3 3
1. Reserves and Surplus
Balance in statement of Profit & Loss 1,50,000 80,000
General Reserve 50,000 20,000
2,00,000 1,00,000
2. Long term borrowings
10% Bank Loan 1,50,000 2,20,000
1,50,000 2,20,000
3. Short term borrowings
Bank Overdraft 1,00,000 —
1,00,000 -
4. Short term provisions
Provision for tax 50,000 30,000
50,000 30,000
5. Tangible Assets (Property, plant & equipment)
Plant and Machinery 7,90,000 4,70,000
Less : Accumulated depreciation (90,000) (70,000)
7,00,000 4,00,000

Additional Information :

(1) T 50,000 was charged as depreciation on Plant and Machinery. A
machinery costing ¥ 60,000 (Book value ¥ 45,000) was sold for
% 42,000.

(1) Bank loan was repaid on 1st April, 2022.
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27. “Uh Hod JUST I (HEH) IFET Jhior yeafad T o e
STt g 1”7
(A) ufed (B) T
(C) i (&) (D) &

28. (a) =T @ N TR G T | Joag ™ 3cd fohal ST & 7
(A) T TGIHT IT-TOTTeAt
(B) T TG 3U-TUTTeAt
(C) Af<m @1 3U-Jomeft
(D) it uiEm R ei@ieh ST-YoTTed!

COCH
(b) TH A & foru, FEH TREmh T -l i U1 A qUT 3TRed audl 39 &,
TopT TehT h1 HTtRESRIT Yot IUerd Tl § 7
A) fefirse (B) 3FIEY (¢TTE)
(C) 3.3U. "R (D) A
29. fore=me # Sy CfraE BT 8 7
(A) 2¥=T (B) 3E=T
(C) TERER (D) SHZ T

30. (a) T 3@ & SRl oraiehd o) T HHT T8 ® 7
(A) TSIl EU™ g o R0 SAfehs TS T YT 81 Hehd @ |
(B) 3AThel < afehTl <hl HHTEHT Bl & |
(C) 3ATehe Gt ol IUCTe H{ ST & |
(D) i 7 forw e e siffése witreen sea= & fohw S TeRd £ |
e
(b) uferaft 1 gufdra W@ qem GETEET % TN HI 9EdR i & T Teh Faam™

(A) heel T AT AT T T T BT § |
(B) el Si@ich i@l <hl J&dT GHTTEd haar 2 |
(C) AT=aftes FEv w@ar ? |

(D) <haet 31T R T Rt T R |
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PART -B
OPTION -11
(Computerised Accounting)

»

27. “A value or function or an arithmetic expression is recorded in
(A) Row (B) Column
(C) Range (D) Cell 1

28. (a) Depreciation is generated from which of the following Accounting
information system ?

(A) Tax accounting sub-system

(B) Expense accounting sub-system

(C) Final accounts sub-system

(D) Fixed assets accounting sub-system 1
OR

(b) Which type of software package is suitable for an organization where
the volume of accounting transactions is very low and adaptability is

very high ?
(A) Specific (B) Tailored
(C) ERP Software (D) Generic 1

29. Which chart has depth axis ?
(A) 2D chart (B) 3D chart
(C) Radar chart (D) Doughnut chart 1

30. (a) Which of the following is not a limitation of computerised accounting
system ?
(A) Data may be lost or corrupted due to power interruptions.
(B) Data are prone to hacking.
(C) Data i1s made available to everybody.
(D) Unprogrammed and unspecific reports cannot be generated. 1
OR

(b) To safeguard assets and optimize the use of resources a business

(A) Only tries to earn sufficient revenue.

(B) Only ensures accuracy in accounting records.

(C) Keeps internal controls.

(D) Only protects its assets. 1

67/5/3/122/Q5QPS Page 29 of 32 P.T.O.




31.

32.

33.

34.

T a#DIV/0! e 8 ek hl 31 Tehell B 2
“Toere Aroft’ (2oreT) | I <l S arett fafi=  31fengl ARIVET HHemsy |

(a) =T/ % T TS H ITART FoRT ST STt A1 Tgferli <h Terrg i <l F= G |
JYdn
(b) SHAANT ST ST ITANT Hid FU, ‘Tie & bl TRUTIYA i o =T I THATST |

feu Mo ‘g’ (VLOOKUP) amed-fo=im o fofu aehsfie o1 3=t std gT Ife qen
3IGehT I T I |

(i) = <figep3 (A5, €3 : W10, 2, 0)

(i) =TERANL (ATHh3TT (&3, 13 : W10, 2, 0) — 100)

(iii) = <iefh3rq’ (12, §13 : WR10, 5, 0)

(iv) = icfha1a’ (13, i3 : §{i10, 2, 0)

(v) = figep3d’ (sfie, i3 : TH10, 0, 0)

(vi) = ‘diqgeh3ta’ (016, s13 : 10, 2, 0)/0
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31. How can a#DIV/0! error be corrected ?
32. Explain various ‘Data tables’ used in ‘Pivot Table.

33. (a) List the points of nomenclature used in Excel for charts/graphs.
OR
(b) Explain the steps to define ‘Print area’ using Dialog box.

34.

From the given ‘VLOOKUP’ syntax find out the error and its reason using
the worksheet.
(1) VLOOKUP (B5, C3 : F10, 2, 0)

(i) = SQRT (VLOOKUP (B3, B3 : F10, 2, 0) — 100)
(ili) = VLOOKUP (B2, B3 : F10, 5, 0)

(iv) = VLOOKUP (B3, B3 : B10, 2, 0)

(v) = VLOOKUP (B6, B3 : F10, 0, 0)

(vi) = VLOOKUP (B6, B3 : F10, 2, 0)/0
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